7-4 ELLIPSES
NOTES WORKSHEET
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I.  Graphing an ellipse on the graphing calculator.

PARTS OF AN ELLIPSE WITH



PARTS OF AN ELLIPSE WITH


HORIZONTAL MAJOR AXIS



VERTICAL MAJOR AXIS
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ELLIPSE EQUATION:  
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III.  Graphing Calculator Steps:


1.  From the main menu – choose #9 (Conics)


2.  Press Shift &  F3 (V window)


3.  Press F3 (STD – standard window size)


4.  Press Exit


5.  Select appropriate equation


6.  Type in information asked for


7.  Press F6 (Draw)




IV.  Answer each of the following:

1.  
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Center:___________________
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a

 = _______ so a = ________
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b

 = _______ so b = ________









2.  
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3.  
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Center:___________________



Center:___________________
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a

 = _______ so a = ________
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a

 = _______ so a = ________
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b

 = _______ so b = ________
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b

 = _______ so b = ________

4.  
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5.  
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Correct form for the equation:


Correct form for the equation:
Center: ___________________


Center: ___________________
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a

 = _______ so a = ________
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a

 = _______ so a = ________
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b

 = _______ so b = ________
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b

 = _______ so b = ________
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Horizontal Major Axis- a is larger





Vertical Major Axis- b is larger
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